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CHAPTER 14 — LINEAR EQUATIONS IN ONE VARIABLE

Solve the following equations:
Question 1

20 = 6+2x

Solution:

Simplifying we get 20 =6 + 2x
20 - 6 =2x

14 =2x

7=X

Xx=7

Question 2

15+x=5x+3

Solution:

Simplifyingwe get 15-3=5x-x 12 =4x

3=x
x=3
Question 3

Jx+2
=7
x—6

Solution:

By cross multiplying 3x + 2 = - 7(X-6)
3X+2=-Tx+42

IX+7x=42-2

10x = 40

X=4

Question 4
3a-=2(4-3)
Solution:
3a—4=8-2a
3a+2a=8+4

ba=12
a=24

https://byjus.com


https://byjus.com/?utm_source=pdf-click

[IBYJU'S

The Learning App

Question 5

3(b-4)=2(4-b)
Solution:
3b—-12=8-12b

3b+2b=8+12

5bh =20
20

hb=—
5
b=4
Question 6
¥+2 x4
3 11
Solution:

By cross multiplying 11(x +2) = 9(x+4)

11lx + 22 =9x + 36
1lx —9x =36 — 22
2x =14

14
x=—

= x=7

Question 7

x—8 a-12
5 ]

Solution:

By cross multiplying 9(x —8) = x{x — 12)

9y — 72 =5x — 60
9y —5=—-60+72
dx =12

12
r==

F

xr=73

Question 8

5(8x + 3) = 9(4x + 7)
Solution:

40x + 15 = 36x + 63

40x — 36x = 63 — 15
4x = 48
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Question 9
3x+1)=12+4 (x-1)
Solution:
3x+1)=12+4(x — 1)

Jx+3=12+4x—4
Jx—dx=12—-4-3

—x=5 =2xy= -5
Question 10
3x 1 x
T—;{x— Zﬂ} —;+ 32
Solution:
3x x x
= —Z4+5=2+32
o+ ox o
= —-Z-Z=32-5
;‘(—‘(—4'{ *
XX g
. k]
= =27
4
¥x=27Tx%x4
x =108
Question 11.
3g—-=2452
5 5 4
Solution:
3a—2=5241
2 2'?5 15
3a — E = ? +E

(Multiplying each term by 5) = 3a><5—§><5=:—:><5+§><5

15a—a=27+1

Solution:
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x 5 ax Zx
3 2 9 3
Since, L.C.M. of denominators 3, 2, 9 and 3=18
[Multiplying each term by 18] = ;i X 18 —>x 18 = % x 18 — :'H—X x 18
Bx —45 =8x — 12x
Gx +12x —Bx =45
18x — B8x = 45
10x = 45
45
==

xr=4:5
Question 13:

Hy+2) _ 745
5 13

Solution:
4v+8 Sy
ITE _ g4
5 13
4y+8 9145y

5 13
(By cross multiplying)
13(4y +8) = 5(91 + 5y)
52y + 104 = 455 + 25y
52y — 25y = 455 — 104
27y = 351
,_ 351
T oz7
y =13

Question 14.

a+5 atl at3

& g a4
Solution:

Since, L.C.M. of denominators 6, 9 and 4=36

Multiplying each term by 36 = "Tﬁ ® 36 — "TH % 36 = "TH x 36
6la+5)—4a+1)=9a+ 3)

ba+ 30—4a —4 =9a + 27

ba—4a—9a =27 —-30+4

ba—13a=1

Question 15:
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Solution:

2x—13 x=3 x—9 1

5 11 5 1
Since, L.C.M. of denominatorss,11,5 and 1 = 55
S— ><55—fl—f><55=“T"’>< 55 +§><55
11{2x —13) = 5(x —3) = 11{x —9) + 55
22x — 143 —5x +15=71x — 99 + 55

22x —5x —11x = —99+ 55+ 143 — 15

bx =198 — 114

bx = 84
B4
Xr=—
&
xr=14
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